Mathematics – Geometry EOC

Curriculum Development and School Improvement- Secondary

MA.912.D.6.2 – Worksheet 1

Name:  ______________________________________ Date:  ____/____/____ Period:  _______


1. On the first day of school, Mr. Morris announces the rules to his class.  Rule 1:   If you are late for class, then you serve detention.
Which of the following would be a converse to his rule?

A.  If you are not late for class, then you do not serve detention.
B.  If you are not late for class, then you serve detention.
C.  If you serve detention, then you were late for class.
D. If you do not serve detention, then you were not late for class.
2.  In geometry class, Mr. Caplin gives the following statement.
      A triangle is a three sided polygon.

Which of the following would be an inverse of his statement?

F. If a polygon has three sides, then it is a triangle.
G. If a polygon does not have three sides, then it is not a triangle.
H.  If a polygon is not a triangle, then it does not have three sides.
I.  If a figure is not a triangle, then it is not a three sided polygon.
3.  Joking with her friends, Diana states that if an animal barks, then it is a dog.
Which of the following statements is the contrapositive to Diana’s statement?
A.  If an animal is not a dog, then it will not bark.
B.  If an animal barks, then it is not a dog.
C.  If an animal does not bark, then it is not a dog.
D.  If an animal is a dog, then it will bark.
4.  If figure ABCD is a square, then all of the sides are congruent.  Which of the following is the converse to this statement?
F.  If figure ABCD is not a square, then all of the sides are not congruent. 
G. If figure ABCD is a square, then all of the sides are not congruent.

H. If a figure ABCD has congruent sides, then the figure is a square.

I. If figure ABCD has congruent sides, then the figure is not a square. 

5. Given a triangle, if side 
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, then the triangle is a right triangle.  
Which of the following is the inverse to the Pythagorean Theorem stated above? 
A.  If a triangle is a right triangle, then
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B. If
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, then the triangle is not a right triangle.

C. If
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D. If a triangle is not a right triangle, then
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